The results from FEMA'’s survey
on motorcyclists’ mobility choices

20 March 2023
By Wim Taal

From 3 until 18 February 2023 FEMA conducted an online survey on the mobility choices
motorcyclists make to commute (travel to work).
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1.941 people from 28 countries responded to the survey.

89.18% of the respondents is male, 10.61% is female, 0.21% other.

The average age of the respondents is 50.2 years.

Respondents that commute on average travel 27.93 kilometres from home to work.
52 Respondents do not commute because they work from home, 17 are retired.

Of the respondents that commute, 35.26% walk, cycle, or use public transport.

Of the respondents that commute, 93.38% use a powered two-wheeler.

Of the respondents that commute on a powered two-wheeler, 73.4% does so on a petrol
motorcycle > 125 cc.

Of the respondents that commute, 70.99% use a four-wheeled vehicle (car/van/truck).
Of the respondents, 12.67% owns a (partially) electric vehicle.

Of the respondents that commute, 11.11% does so with a (partially) electric vehicle.

How many kilometers/miles per year do you commute?
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Do you think you will use a motorcycle more or less for commuting in the
coming years?
| do not know

Less 7%
6%

Which vehicles do you own? (multiple answers possible)
Petrol motorcycle (> 125 cc) I 1779
Bicycle I = 1102
Petrol car I = 981
Diesel car NN = 788
Electrically-assisted bicycle (e-bike) NN = 192
Petrol motor scooter (>125cc) N = 141
Light petrol motorcyle (< 125cc) I = 131
Electriccar I = 121
Petrol moped (<50cc) I = 93
Electric motorcycle W m 31
H 30
u 27

Hybrid car

Electric moped

|
|
Truck W ® 26
Van 1 m 18
Light petrol moped (max. 25 km/h) 1 m 17
Electric motor scooter I ™ 15
Light electric moped (max. 25 km/h) 1 m 12
Speedpedelec | ® 10
Campervan | ® 9
LPGcar | ® 5
Quad | m 4
Personal light electric vehicle )
Snowmobile "]
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Which modes of transport do you use to commute? (multiple answers possible)

Petrol motorcycle (> 125 cc) IS = 1374

Petrol car N = 626
Diesel car s = 587
Bicycle NN = 273
Public transport N = 251
Petrol motor scooter (>125cc) I = 173
Walking/running N = 136
Electriccar [l = 83
Light petrol motorcyle (< 125cc) Hll = 66
Electrically-assisted bicycle (e-bike) Ml = 59

Electric motorcycle W ™ 26

Hybridcar 1 m 17

Petrol moped (<50cc) 1 m 17

Personal light electric vehicle 1 ® 15

Van 1 ® 14
Electricmoped | m 9
Speedpedelec | ®m 6
Electric motor scooter | m 6
Light electric motorcycle | m 4
Light petrol moped (max. 25 km/h) | m 4
Light electric moped (max. 25 km/h) m3
Truck m 2
Shared e-scooter/moped 1
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When do you use a motorcycle (> 50 cc) for commuting?

| do not commute on a motorcycle IS = 376
January I = 757
February NN = 814
March I = 1112
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June . = 1554
July T = 1532
August I = 1522
September I = 1534

October |

November I = 1029
December INIINNI——— = 787
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What would be the main reasons for you to use a motorcycle for
commuting? (multiple answers are possible)

Itis a pleasant way of travelling | e = 1589
To avoid traffic jams [ . = 1227
Itis easy to park [ N . = 1179
Travel time [ . = 951
The costs [N - 750
It is my only means of transport [ = 196
other [l = 71
Fun | = 15
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What would be reasons for you not to use a motorcycle for commuting?
(multiple answers are possible)

Bad weather [ - 1456
No safe parking facilities at my destination [ NN = 356
It is not convenient because of clothing and helmet [ = 289
The accident risk [l = 189
Other means of transport are more comfortable [l = 166
other [ = 137
Riding in traffic jams is dangerous - = 105
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